


PLUTONE 30 CE tav.unica
Riferit Nome prodotto

1 WIRE WHIP PLT 30LT

2 BEATER PLT 30LT

3 HOOK PLT 30LT

4 AIRING BOARD PLT 30LT

5 MACHINE BODY PLT 30LT

6 SIDE BUFFLE PLATE PLT 30LT

7 LOCATING PIECE FOR GRID PLT 30LT
8 STAILESS STEEL RING PLT 30LT

9 BOLT PLT 30LT

10  LOCATING PIN FOR BOWL  PLT 30LT
11 STAILESS STEEL RING PLT 30LT

12 STAILESS STEEL NUT PLT 30LT

13 KEY PLT 30LT

14  KEY PLT 30LT

15 MAIN SHAFT PLT 30LT

16  KEY PLT 30LT

17  OILSEAL PLT 30LT

18  PLUG ATTACHMENT HUB PLT 30LT
19 RUBBER SEAL 55X5G PLT 30LT
20 BOLT M6X20 PLT 30LT

21 SPRING PLT 30LT

22 SPRING WASHERS PLT 30LT
23 SHAFT END RING PLT 30LT

24 BEARING 6204 PLT 30LT

25  SPACER-LOWER PLT 30LT

26 BOLT M8X20 PLT 30LT

27  CROSS PAN HEAD SCREW  PLT 30LT
28-2 GEAR PLT 30LT

28-4 ROLLER PLT 30LT

28-3 SPRING PLT 30LT

28-1 SUPER MACHINE PARTS PLT 30LT
29  GEAR PLT 30LT

30 GEAR PLT 30LT

31 BUSHING PLT 30LT

32 SLEEVE PLT 30LT

33 BUSHING PLT 30LT

34  GEAR PLT 30LT

35  GASKET PLT 30LT

36  BEARING 6202 PLT 30LT

37  BUSHING PLT 30LT

38  ATTACHMENT HUB PLT 30LT
39 PAPER RING PLT 30LT

40  CIRCLIPS PLT 30LT

41  GEAR PLT 30LT

42  CIRCLIPS FOR SHAFT 18  PLT 30LT
43 PLANET GEAR PLT 30LT

44  WORKING SHAFT PLT 30LT

Codice
CNP30-42402300
CNP30-42402100
CNP30-42402200
CNP30-50405220
CNP30-42401509
CNP30-50405257
CNP30-50405320
CNP30-50307014
CNP30-50405177
CNP30-42401100
CNP30-50308013
CNP30-50304044
CNP30-50313025
CNP30-50313021
CNP30-40701300
CNP30-50313027
CNP30-50310015
CNP30-50405015
CNP30-50399041
CNP30-50303080
CNP30-50405065
CNP30-50308005
CNP30-50405035
CNP30-50301006
CNP30-40701200
CNP30-50303019
CNP30-50305023
CNP30-40701600
CNP30-50306040
CNP30-608032
CNP30-40701500
CNP30-50405169
CNP30-40701700
CNP30-50405041
CNP30-40702000
CNP30-50405042
CNP30-40702100
CNP30-40702200
CNP30-50301008
CNP30-40702300
CNP30-42402600
CNP30-608034
CNP30-50405026
CNP30-50405170
CNP30-50312007
CNP30-40702600
CNP30-42400200



45
46
47
48
49
50
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94

BEARING 6205 PLT 30LT
OIL SEAL 28X52X7 PLT 30LT
FIXING DIVICE PLT 30LT
BOWL HOLD KITS PLT 30LT

LOCATING PIECE FOR GRID  PLT 30LT

POSITION SWITCH D4C PLT 30LT
STICK PLT 30LT

BRAND PLT 30LT
POWER INDICATOR PLT 30LT
KEY 6X25 PLT 30LT
INTERNAL GEAR PLT 30LT
OPERATING SHELF PLT 30LT
PIN 4X30 PLT 30LT
CAM-GEAR SHIFTER PLT 30LT
HANGER PLT 30LT
SPRING PLT 30LT
UNDER MASK PLT 30LT
SUPPORT PLT 30LT
UPPER MASK PLT 30LT
BOWL HOLD KITS PLT 30LT
DISTANCE SWITCH PLT 30LT
OVERLOAD SWITCH PLT 30LT
NUT M8 PLT 30LT
TIMER PLT 30LT
WATERPROOF JOINT PLT 30LT
LIFTING PLATE PLT 30LT
HANGER PLT 30LT

RED BUTTON PLT 30LT
CONNECTING ROD PLT 30LT
PIN 5X40 PLT 30LT
HANDLE-SHIFTER PLT 30LT
GREEN BUTTON PLT 30LT
RED BUTTON PLT 30LT
RED BUTTON PLT 30LT
BOLT 6X10 PLT 30LT
SPACER PLT 30LT
SPRING PLT 30LT

BACK COVER BOARD PLT 30LT
NUT PLT 30LT

CRANK LEVER PLT 30LT
TIMER KNOB PLT 30LT

PIN 4X25 PLT 30LT

BOLT M8X40 PLT 30LT
SPACER 12 PLT 30LT

FLAT VALVE CAP PLT 30LT
TOP BATTER VALVE CAP  PLT 30LT
RING PLT 30LT

GEAR PLT 30LT

SCREW PLT 30LT

SPRING PLT30

CNP30-50301007
CNP30-50310009
CNP30-42401600
CNP30-40703500
CNP30-50405319
CNP30-50506087
CNP30-50402200
CNP30-50402196
CNP30-50506081
CNP30-50313022
CNP30-40702400
CNP30-40702700
CNP30-50306003
CNP30-40502900
CNP30-40706409
CNP30-50406006
CNP30-50405260
CNP30-42400500
CNP30-50405258
CNP30-40703500
CNP30-50506058
CNP30-50503009
CNP30-50304005
CNP30-50504003
CNP30-50514012
CNP30-50405282
CNP30-40706409
CNP30-50506029
CNP30-42401000
CNP30-50306007
CNP30-42400800
CNP30-50506026
CNP30-50506011
CNP30-50506006
CNP30-50303154
CNP30-50307008
CNP30-50406022
CNP30-50405251
CNP30-50304007
CNP30-40705509
CNP30-50506041
CNP30-50306002
CNP30-50303024
CNP30-50307007
CNP30-50405032
CNP30-40701100
CNP30-50308004
CNP30-40700800
CNP30-50405064
CNP30-50406021



95

9%

97

98

99

100
101
102
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145

SHIFTING YOKE PLT 30LT

CROSS PAN HEAD SCREW M5X1 PLT 30LT

TAPER PIN 6X20 PLT 30LT

TRANSMISSION SHAFT SUPPORT PLT 30LT

DECLUTCH SHIFT SHAFT ~ PLT 30LT
SHIFTING YOKE PLT 30LT
RING 10 PLT 30LT

NUT M10 PLT 30LT
SPRING PLT 30LT

BOLT M8X30 PLT 30LT
SPEED HANDLE PLT 30LT
RING PLT 30LT

NUT M18X1.5 PLT 30LT
CIRCLIPS FOR SHAFT 17  PLT 30LT
PLUG 1 PLT 30LT
WORM WHEEL PLT 30LT
PLATE-SHIFTER INDEX PLT 30LT
PIN PLT 30LT

RING 40 PLT 30LT

BOLT M5X14 PLT 30LT
RING PLT 30LT

RING PLT 30LT
BEARING 6203 PLT 30LT
GEAR SHAFT PLT 30LT

KEY 5X16 PLT 30LT
BUSHING PLT 30LT
GEAR PLT 30LT
GASKET PLT 30LT

GEAR PLT 30LT
CIRCLIPS FOR SHAFT 20  PLT 30LT
RING 35 PLT 30LT

RING PLT 30LT

SHAFT WORM GEAR PLT 30LT
BEARING PLT 30LT
CIRCLIPS FOR SHAFT PLT 30LT
PLUG 2 PLT 30LT
MOTOR PLT 30LT

PIN PLT 30LT

OIL SEAL PLT 30LT
FRONT HOUSING PLT 30LT
STEEL BALL 6 PLT 30LT
HANDLE-SHIFTER PLT 30LT
BOLT M5X12 PLT 30LT
CONNECTING ROD PLT 30LT
BOLT M5X50 PLT 30LT
HANDLE COVER PLT 30LT
TOP COVER PLT 30LT
SAFETY GUARD PLT 30LT
BOWL PLT 30LT

START CAPACITOR 35MF  PLT 30LT

CNP30-40703400
CNP30-50305015
CNP30-50306022
CNP30-40700500
CNP30-40703600
CNP30-40703400
CNP30-50308006
CNP30-50304006
CNP30-50406004
CNP30-50303087
CNP30-42402500
CNP30-50405036
CNP30-50304012
CNP30-50312005
CNP30-40703000
CNP30-50405025
CNP30-42400300
CNP30-50306061
CNP30-50312026
CNP30-50303003
CNP30-50308003
CNP30-50405034
CNP30-50301005
CNP30-40700900
CNP30-50313016
CNP30-40703200
CNP30-40702900
CNP30-40703100
CNP30-40700700
CNP30-50312008
CNP30-50312024
CNP30-50308007
CNP30-40700600
CNP30-50301004
CNP30-50312003
CNP30-40703300
CNP30-50501143
CNP30-50306009
CNP30-50310002
CNP30-42400100
CNP30-50399006
CNP30-42400400
CNP30-50305014
CNP30-42402700
CNP30-50305141
CNP30-50399037
CNP30-50403019
CNP30-42400600
CNP30-50401008
CNP30-50505012



146 WORK CAPACITOR 200MF  PLT 30LT CNP30-50505005
147 CONTACT SWITCH PLT 30LT CNP30-50502014



